20.
21.

22.

23.

24.

25.

26.

27.

Problem

28.

Evaluate: 6% - [12 = (-2)]°

Identify, then correct, any errors in the work below.
(5+3%xd+5

=22 x09

=64 x89

= 576

57 x(2+4)% xa(-9"
" %6 % (7-D°

-7’

Write the quotient of W as a single power.

Evaluate;

Simplify, then evaluate.
(-3 x (-2’
(-3)" x (-2

Simplify, then evaluate.

Simplify, then evaluate.

()2
[24 x24]2

Simplify, then evaluate.

[45+43]2 - [23+ 25]2

Evaluate: 5(5)4 - 3(—3}3
Show your steps.
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10. B

11. A

12. A

13. B

14. C

15. C

16. D

17. C
SHORT ANSWER

18. From least to greatest: 52, 25, 43, 34

19. 7' =1

20. 252

21. Error: The solution does not follow the order of operations. Do not add 4 + 5 before evaluating brackets,
evaluating exponents, or multiplying.

Correction:
(5+3)° xd45
3l xdss
= 256+ 5
- 261

22. -5

g

23 [ 7]'5 7
(=7)

24, (-2)° = =32

4 4
25 E = 2—2 = 2% = 256
. 5I:I - 1 - -

3 4
) =(#)
26— =2 _3'_1g
[24x24] 2

2 2 2 2
27. (4‘5+43] —[23+2‘5] =[43] —[22] _ 45— 2% _ 4080

PROBLEM

28. 5(5)% - 337 = 5x625- 3% (-27)
= 3125+ 81
— 3206



